## UNIVERSITY OF MISSOURI - Columbia Tuition Rates Beginning with the 2021 Fall Session

TUITION				2020-2021	RATES	2021-2022		
Student Level or Professional Program	Residence Status	Term Type	Plateau	Per Credit Hour Rate	Flat Rate	Per Credit Hour Rate	Flat Rate	Dollar Change
Undergraduate <sup>1</sup>	Missouri	Semester	None	\$311.00		\$333.90 <sup>2</sup>		\$22.90
	Nonresident	Semester	None	\$920.40		\$966.40		\$46.00
Graduate	Missouri	Semester	None	\$394.90		\$414.60		\$19.70
	Nonresident	Semester	None	\$1,081.10		\$1,135.20		\$54.10
Law, JD	Missouri	Semester	None	\$689.90		\$724.40		\$34.50
	Nonresident	Semester	None	\$1,312.30		\$1,346.40		\$34.10
Law, LLM	Missouri	Semester	None	\$775.40		\$814.20		\$38.80
	Nonresident	Semester	None	\$1,484.50		\$1,558.70		\$74.20
Medicine, MD	Missouri	M1 & M2	18	\$956.90	\$17,224.80	\$1,033.50	\$18,603.00	\$1,378.20
	Missouri	M3 & M4	20	\$956.90	\$19,138.60	\$1,033.50	\$20,670.00	\$1,531.40
	Nonresident	M1 & M2	18	\$1,948.80	\$35,077.60	\$2,104.70	\$37,884.60	\$2,807.00
	Nonresident	M3 & M4	20	\$1,948.80	\$38,975.20	\$2,104.70	\$42,094.00	\$3,118.80
Occupational Therapy, MOT &	Missouri	Semester	None	\$573.40		\$581.40		\$8.00
OTD	Nonresident	Semester	None	\$1,153.60		\$1,241.10		\$87.50
OTD Distance Program	All	Semester	None	\$700.00		\$735.00		\$35.00
Physical Therapy,	Missouri	Semester	None	\$499.30		\$524.30		\$25.00
DPT	Nonresident	Semester	None	\$1,185.60		\$1,241.10		\$55.50
Veterinary Medicine,	Missouri	Semester	16	\$827.50	\$13,239.80	\$868.90	\$13,901.80	\$662.00
DVM	Nonresident	Semester	16	\$1,994.00	\$31,904.20	\$2,093.70	\$33,499.40	\$1,595.20

<sup>1</sup> Falls under Higher Education Student Funding Act (HESFA)

<sup>2</sup> The tuition charge is \$333.90 per credit hour, but is reduced by a limited Missouri resident undergraduate tuition waiver of \$12.60 to \$321.30 per credit hour. This waiver is the result of university action and may not continue in the future.

### UNIVERSITY OF MISSOURI - Columbia Supplemental Course Fees and Other Enrollment Fees Beginning with the 2021 Fall Session

	2020-2021	RATES	2021-2022		
	Per Credit	Flat	Per Credit	Flat	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change
Information Technology Fee *	\$14.35		\$15.00		\$0.65
College of Ag, Food and Natural Resources Course Fee	\$55.40		\$58.20		\$2.80
College of Ag, Food & Natural Resources Course Fee Upper Div & Graduate	\$92.10		\$96.70		\$4.60
College of Arts & Science Course Fee <sup>1</sup>	\$44.30		\$63.30		\$19.00
School of Medicine Course Fee <sup>2</sup>	\$81.80		\$120.00		\$38.20
College of Veterinary Medicine Course Fee <sup>3</sup>	\$42.60		\$59.80		\$17.20
CVM Clinical Supplemental Fee		n/a		\$2,000.00	n/a
Trulaske College of Business Undergraduate Course Fee	\$98.50		\$103.40		\$4.90
Trulaske College of Business Graduate Course Fee	\$115.40		\$121.20		\$5.80
Trulaske College of Business Undergraduate Excellence Fee		\$208.50		\$218.90	\$10.40
College of Education Course Fee	\$54.20		\$56.90		\$2.70
Applied Behavioral Analysis Course Fee	\$100.30		\$105.30		\$5.00
College of Engineering Course Fee	\$218.90		\$229.80		\$10.90
School of Health Professions Course Fee	\$104.40		\$105.90		\$1.50
Social Work Course Fee	\$60.50		\$70.50		\$10.00
School of Journalism Course Fee	\$112.50		\$130.00		\$17.50
School of Law Undergraduate Course Fee	n/a		\$95.00		n/a
Sinclair School of Nursing Clinical Nursing Graduate Fee	\$218.10		\$229.00		\$10.90
Sinclair School of Nursing Undergraduate Course Fee	\$143.90		\$225.00		\$81.10
Sinclair School of Nursing Undergraduate Course Fee(Existing Student Group)	\$143.90		\$151.10		\$7.20
College of Human Environmental Sciences Course Fee	\$60.50		\$63.50		\$3.00
Accountancy Program Fee		\$578.60		\$607.50	\$28.90
Medical School Laboratory/Resource Fee		\$845.40		\$887.70	\$42.30
Applied Music Fee	\$164.80		\$173.00		\$8.20
Data Science & Analytics Graduate on-campus Course Fee	\$180.00		\$189.00		\$9.00
Undergrad Distance Program & Special Delivery Tuition - Minimum	\$311.00		\$326.60		\$15.60
Undergrad Distance Program & Special Delivery Tuition - Maximum	\$920.40		\$966.40		\$46.00
Graduate Distance Program & Special Delivery Tuition - Minimum	\$394.90		\$414.60		\$19.70
Graduate Distance Program & Special Delivery Tuition - Maximum	\$1,919.30		\$2,015.30		\$96.00
Examination Only - Graduate Enrollment (tuition)		\$394.90		\$414.60	\$19.70
CE Instructional Fee (for credit) - Minimum	\$311.00		\$326.60		\$15.60
CE Instructional Fee (for credit) - Maximum	\$1,370.90		\$1,439.40		\$68.50

<sup>1</sup> Includes all A&S courses level 2000 and 1000-level instruction intensive courses with enrollments capped at 49 or fewer students.

<sup>2</sup> Includes Anatomy, Microbiology, Pharmacology, Radiology and Health Management Informatics courses offered by the School of Medicine level 2000 and above.

<sup>3</sup> Veterinary Microbiology courses level 2000 and above.

#### UNIVERSITY OF MISSOURI - Kansas City Tuition Rates Beginning with the 2021 Fall Session

TUITION			2020-202	21 RATES	2021-202	2 RATES			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate 1	Missouri	Semester	None	\$306.60		\$319.30 <sup>2</sup>		4.1%	\$12.70
	Nonresident	Semester	None	\$843.30		\$877.70		4.1%	\$34.40
	Kansas Rate	Semester	None	\$306.60		\$319.30		4.1%	\$12.70
	Heartland Rate	Semester	None	\$459.90		\$479.00		4.2%	\$19.10
Graduate	Missouri	Semester	None	\$406.70		\$423.00		4.0%	\$16.30
	Nonresident	Semester	None	\$1,050.10		\$1,092.10		4.0%	\$42.00
	Metropolitan	Semester	None	\$406.70		\$423.00		4.0%	\$16.30
Anesthesia, UMKC	Missouri	Semester	16		\$12,113.50		\$12,283.10	1.4%	\$169.60
MS	Missouri	Summer	16		\$8,075.50		\$8,188.60	1.4%	\$113.10
	Nonresident	Semester	16		\$14,463.70		\$14,666.20	1.4%	\$202.50
	Nonresident	Summer	16		\$9,642.80		\$9,777.80	1.4%	\$135.00
Med Physician Asst	Missouri	Semester	18		\$11,251.00		\$11,408.50	1.4%	\$157.50
MS	Missouri	Summer	18		\$7,500.50		\$7,605.50	1.4%	\$105.00
	Nonresident	Semester	18		\$13,501.20		\$13,690.20	1.4%	\$189.00
	Nonresident	Summer	18		\$9,000.90		\$9,126.90	1.4%	\$126.00
Dentistry, DDS	Missouri	Semester	16	\$1,120.70	\$17,930.40	\$1,143.10	\$18,289.00	2.0%	\$358.60
	Missouri	Summer	8	\$1,120.60	\$8,965.10	\$1,143.10	\$9,144.40	2.0%	\$179.30
	Nonresident	Semester	16	\$2,233.40	\$35,735.10	\$2,278.10	\$36,449.80	2.0%	\$714.70
	Nonresident	Summer	8	\$2,233.40	\$17,867.50	\$2,278.10	\$18,224.90	2.0%	\$357.40
Dentistry,	Missouri	Semester	14	\$1,179.40	\$16,511.80	\$1,203.00	\$16,842.00	2.0%	\$330.20
Graduate Certificate	Missouri	Summer	7	\$1,179,40	\$8,255.80	\$1,203.00	\$8,420.90	2.0%	\$165.10
and MS	Nonresident	Semester	14	\$2,354.60	\$32,964.30	\$2,401.70	\$33,623,60	2.0%	\$659.30
	Nonresident	Summer	7	\$2,354.60	\$16,482.20	\$2,401.70	\$16,811.80	2.0%	\$329.60
Law, JD	Missouri	Semester	None	\$629.90		\$650.10		3.2%	\$20.20
,	Nonresident	Semester	None	\$1,243.40		\$1,283.20		3.2%	\$39.80
Law, LLM	Missouri	Semester	None	\$763.80		\$789.80		3.4%	\$26.00
,	Nonresident	Semester	None	\$1,585.90		\$1,639.80		3.4%	\$53.90
Medicine,	Missouri	Semester	16	\$646.50	\$10,343.70	\$662.60	\$10,602.30	2.5%	\$258.60
MD, Years 1 and 2	Missouri	Summer	8	\$646.50	\$5,171.90	\$662.70	\$5,301.20	2.5%	\$129.30
,	Regional	Semester	16	\$969.70	\$15,515.60	\$994.00	\$15,903.50	2.5%	\$387.90
	Regional	Summer	8	\$969.70	\$7,757.70	\$994.00	\$7,951.60	2.5%	\$193.90
	Nonresident	Semester	16	\$1,293.00	\$20,687.30	\$1,325.30	\$21,204.50	2.5%	\$517.20
	Nonresident	Summer	8	\$1,293.00	\$10,343.70	\$1,325.30	\$10,602.30	2.5%	\$258.60
Medicine,	Missouri	Semester	18	\$676.30	\$12,172.60	\$693.20	\$12,476.90	2.5%	\$304.30
MD, Years 3 thru 6	Missouri	Summer	12	\$676.30	\$8,115.60	\$693.20	\$8,318.40	2.5%	\$202.80
	Regional	Semester	18	\$1,014.40	\$18,259.90	\$1,039.80	\$18,716.40	2.5%	\$456.50
	Regional	Summer	12	\$1,014.50	\$12,173.40	\$1,039.80	\$12,477.70	2.5%	\$304.30
	Nonresident	Semester	18	\$1,352.50	\$24,344.90	\$1,386.30	\$24,953.50	2.5%	\$608.60
	Nonresident	Summer	12	\$1,352.50	\$16,230.00	\$1,386.30	\$16,635.80	2.5%	\$405.80
Pharmacy, Dpharm	Missouri	Semester	15	\$843.90	\$12,658.70	\$860.80	\$12,911.90	2.0%	\$253.20
	Missouri	Summer	6	\$843.90	\$5,063.40	\$860.80	\$5,164.70	2.0%	\$101.30
	Nonresident	Semester	15	\$1,855.50	\$27,833.20	\$1,892.70	\$28,389.90	2.0%	\$556.70
	Nonresident	Summer	6	\$1,855.60	\$11,133.50	\$1,892.70	\$11,356.20	2.0%	\$222.70
Nursing Graduate	Missouri	Semester	None	\$613.80	,	\$622.39		1.4%	\$8.59
	Nonresident	Semester	None	\$1,168.30		\$1,184.66		1.4%	\$16.36

<sup>1</sup> Falls under Higher Education Student Funding Act (HESFA)

<sup>2</sup> The tuition charge is \$319.30 per credit hour, but is reduced by a limited Missouri resident undergraduate tuition waiver of \$5.40 to \$313.90 per credit hour. This waiver is the result of university action and may not continue in the future.

#### UNIVERSITY OF MISSOURI - Kansas City Supplemental Course Fees and Other Enrollment Fees Beginning with the 2021 Fall Session

	2020-202	21 RATES	2021-2022	2 RATES		
	Per Credit		Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour	Flat Rate	Hour Rate	Rate	Change	Change
Information Technology Fee	\$15.00		\$16.50		10.0%	\$1.50
Counseling Psychology Graduate Course Fee	\$39.30		\$39.90		1.5%	\$0.60
Bloch School Graduate Business Supplemental Fee	\$106.80		\$108.25		1.4%	\$1.45
Bloch School Undergraduate Course Fee	\$74.00		\$75.00		1.4%	\$1.00
Bloch School Public Administration Graduate Course Fee	\$42.50		\$43.10		1.4%	\$0.60
School of Biological Sciences Fee	\$25.00		\$25.00		0.0%	\$0.00
School of Education Course Fee	\$18.00		\$18.30		1.7%	\$0.30
Engineering Course Fee	\$92.00		\$100.00		8.7%	\$8.00
Legal Technology Fee (Law School)	\$9.20		\$10.20		10.9%	\$1.00
Nursing/BHS/BSPH Clinical/Internship Course Fee	\$235.00		\$245.00		4.3%	\$10.00
A&S Media Studies Lab/Studio Fee	\$36.00		\$62.00		72.2%	\$26.00
A&S Science Lab Fee	\$14.60		\$14.80		1.4%	\$0.20
A&S Geosciences Lab Fee	\$14.60		\$25.00		71.2%	\$10.40
A&S Studio Arts Fee	\$46.00		\$50.00		8.7%	\$4.00
Online Course Fee	\$47.90		\$48.60		1.5%	\$0.70
Conservatory Undergraduate Program fee	\$47.00		\$47.70		1.5%	\$0.70
Conservatory Graduate Program fee	\$62.50		\$63.40		1.4%	\$0.90
Nursing Simulation Course Fee	\$60.00		\$70.00		16.7%	\$10.00
Social Work Field Graduate Education Fee	\$26.60		\$27.00		1.5%	\$0.40
Graduate Writing & Professional Development Fee		\$25.00		\$25.35	1.4%	\$0.35
School of Medicine Simulation & Assessment Yrs 1-2		\$180.00		\$180.00	0.0%	\$0.00
School of Medicine Simulation & Assessment - other		\$286.00		\$286.00	0.0%	\$0.00
Undergrad Distance Program & Special Delivery Tuition - Minimum <sup>3</sup>	\$306.60		\$319.30		4.1%	\$12.70
Undergrad Distance Program & Special Delivery Tuition - Maximum 3	\$843.30		\$877.70		4.1%	\$34.40
Graduate eLearning and Special Program Delivery Minimum	\$406.70		\$423.00		4.0%	\$16.30
Graduate eLearning and Special Program Delivery Maximum	\$1,050.10		\$1,092.10		4.0%	\$42.00
Examination Only - Graduate Enrollment		\$406.70		\$423.00	4.0%	\$16.30
CE Instructional Fee (for credit) - Minimum	\$306.60		\$326.90		6.6%	\$20.30
CE Instructional Fee (for credit) - Maximum	\$1,050.10		\$1,092.10		4.0%	\$42.00

1 Falls under Higher Education Student Funding Act (HESFA)

<sup>2</sup> Special Delivery Tuition includes consortium agreements with other post secondary institutions and reciprocal exchange agreements with post secondary international institutions.

# MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY Tuition Rates Beginning with the 2021 Fall Session

TUITION	2020-2021 RATES		2021-2022 RATES						
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate <sup>1</sup>	Missouri	Semester	None	\$311.00		\$332.00 2		6.8%	\$21.00
_	Nonresident	Semester	None	\$952.10		\$985.00		3.5%	\$32.90
	International	Semester	None	\$1,031.90		\$1,046.30		1.4%	\$14.40
Graduate	Missouri	Semester	None	\$435.50		\$435.50		0.0%	\$0.00
	Nonresident	Semester	None	\$1,231.60		\$1,231.60		0.0%	\$0.00
	International	Semester	None	\$1,306.60		\$1,306.60		0.0%	\$0.00

<sup>1</sup> Falls under Higher Education Student Funding Act (HESFA)

<sup>2</sup> The tuition charge is \$332.00 per credit hour, but is reduced by a limited Missouri resident undergraduate tuition waiver of \$15.40 to \$316.60 per credit hour. This waiver is the result of university action and may not continue in the future.

# MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY Supplemental Course Fees and Other Enrollment Fees Beginning with the 2021 Fall Session

	2020-2021 RATES		2021-2022 RATES			
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	<b>Hour Rate</b>	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$15.65		\$16.20		3.5%	\$0.55
Engineering & Computing Course Fee	\$218.90		\$226.30		3.4%	\$7.40
Sciences Course Fee	\$218.90		\$225.50		3.0%	\$6.60
Business and Information Technology Course Fee	\$104.20		\$109.40		5.0%	\$5.20
Undergraduate eLearning (distance students only) Minimum	\$311.00		\$332.00		6.8%	\$21.00
Undergraduate eLearning (distance students only) Maximum	\$952.10		\$965.40		1.4%	\$13.30
Graduate eLearning and Special Program Delivery Minimum	\$435.50		\$435.50		0.0%	\$0.00
Graduate eLearning and Special Program Delivery Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00
Examination Only - Graduate Enrollment		\$435.50		\$435.50	0.0%	\$0.00
CE Instructional Fee (for credit) - Minimum	\$311.00		\$332.00		6.8%	\$21.00
CE Instructional Fee (for credit) - Maximum	\$3,000.00		\$3,000.00		0.0%	\$0.00

<sup>1</sup> Falls under Higher Education Student Funding Act (HESFA)

## UNIVERSITY OF MISSOURI - St. Louis Tuition Rates Beginning with the 2021 Fall Session

TUITION				2020-2021 RATES		2021-2022 RATES			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate <sup>1</sup>	Missouri	Semester	None	\$377.60		\$400.50 <sup>2</sup>		6.1%	\$22.90
	Nonresident	Semester	None	\$999.00		\$1,019.00		2.0%	\$20.00
	Metropolitan	Semester	None	\$377.60		\$400.50		6.1%	\$22.90
	Illinois	Semester	None	\$377.60		\$400.50		6.1%	\$22.90
Graduate	Missouri	Semester	None	\$511.80		\$522.00		2.0%	\$10.20
	Nonresident	Semester	None	\$1,256.40		\$1,281.50		2.0%	\$25.10
	Metropolitan	Semester	None	\$511.80		\$522.00		2.0%	\$10.20
	Illinois	Semester	None	\$511.80		\$522.00		2.0%	\$10.20
Optometry, OD	Missouri	Semester	16	\$780.00	\$12,480.00	\$790.60	\$12,649.60	1.4%	\$10.60
	Nonresident	Semester	16	\$1,292.10	\$20,673.60	\$1,305.00	\$20,880.00	1.0%	\$12.90

<sup>1</sup> Falls under Higher Education Student Funding Act (HESFA)

<sup>2</sup> The tuition charge is \$400.50 per credit hour, but is reduced by a limited Missouri resident undergraduate tuition waiver of \$21.50 to \$379.00 per credit hour. This waiver is the result of university action and may not continue in the future.

## UNIVERSITY OF MISSOURI - St. Louis Supplemental Course Fees and Other Enrollment Fees Beginning with the 2021 Fall Session

	2020-2021	RATES	2021-2022	2 RATES		
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
SUPPLEMENTAL FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
College of Business Administration Graduate Course Fee	\$122.40		\$124.80		2.0%	\$2.40
College of Business Administration Undergraduate Course Fee	\$85.20		\$86.90		2.0%	\$1.70
College of Education Supplemental Course Fee	\$29.80		\$30.40		2.0%	\$0.60
Engineering Course Fee	\$184.50		\$188.20		2.0%	\$3.70
Media & Communications Studies Lab/Studio Course Fee	\$34.10		\$34.80		2.1%	\$0.70
Nursing Undergraduate Course Fee	\$225.20		\$229.70		2.0%	\$4.50
Nursing DNP Fee	\$261.20		\$266.40		2.0%	\$5.20
Online Fee for 100% online courses	\$63.70		\$65.00		2.0%	\$1.30
Online Fee for partially (75%-99%) online courses	\$53.30		\$54.40		2.1%	\$1.10
Online Fee for blended (30%-74%) online courses	\$26.60		\$27.10		1.9%	\$0.50
College of Arts & Sciences Science Lab Fee	\$26.60		\$27.10		1.9%	\$0.50
Arts & Sciences Supplemental Fee	\$10.85		\$11.10		2.3%	\$0.25
Social Work Supplemental Fee Undergraduate	\$19.10		\$19.50		2.1%	\$0.40
Social Work Supplemental Fee Graduate	\$21.30		\$21.70		1.9%	\$0.40
Studio Arts Fee, UMSL (BFA)	\$37.20		\$37.90		1.9%	\$0.70
Applied Music Fee		\$361.80		\$369.00	2.0%	\$7.20
Patients Care Center Supplemental Fee		\$900.00		\$900.00	0.0%	\$0.00
Undergraduate eLearning and Special Program Delivery Minimum	\$377.60		\$400.50		6.1%	\$22.90
Undergraduate eLearning and Special Program Delivery Maximum	\$999.00		\$1,019.00		2.0%	\$20.00
Graduate eLearning and Special Program Delivery Minimum	\$511.80		\$522.00		2.0%	\$10.20
Graduate eLearning and Special Program Delivery Maximum	\$2,000.00		\$2,000.00		0.0%	\$0.00
Examination Only - Graduate Enrollment		\$511.80		\$522.00	2.0%	\$10.20
CE Instructional Fee (for credit) - Minimum	\$377.60		\$400.50		6.1%	\$22.90
CE Instructional Fee (for credit) - Maximum	\$2,000.00		\$2,000.00		0.0%	\$0.00